75-28+52=( )+52=(




[ ]etoll gk 2 A2 WY oL,

37— (8+15)=37-[__]
=]




17 x (48 + 4)




N

62-4%x9+3+15

D 62-4
® 9=+3

@ 62x9

® 34+15

® 4x9



AL

1, 2, 3, 4, 6, 9, 12, 18, 24, 36, 72

® 12 3 24 @ 36 ® 72

@D 8



6.

29] Mg 25 B AjelA] FotA L.

12 3 45 6 7 8 9 10

YR
=%

A




@ (4, 18)
© (7, 21)




50 T 75 2]
Q)

D EE

D EE

Y ER



—

— [0




10. Akt 27t ghE A2 o= AdU7}?

D 48+2x6 @ 48x6=2 B 6x48 =2

@ 48 + (2 x6) ® 48 x (6= 2)



@ 3 3 5 @ 9 B 45

@D 2



12.

(1) (20, 48) ©] Hhgok[ ],
H23u5 ]

(2) (36, 30) 9] HpgFs] |
Hagos ]

@ (1) 4, 240 (2) 18, 240 @ (1) 6, 180 (2) 18, 180
® (1) 4, 240 (2) 6, 180 @ (1) 6,240 (2) 18, 240

® (1) 4, 180 (2) 6, 180




3 8 @ 12 3 16

® 3






ol
BN

)
TE

<+
il

o
Ho

ol

B

Ife]

]
E_a

i
i
o

™ |0

<t o

oL A7

3 200

@ 60 A 80 @ 120

@D 40



ol =

Wl

a2 F2t A

flo

2~
T

ot
HT

16. £me] HaFusg FEENE
oL AYU7H?

5 4) (45 28) (5 4) (25 24)
®(9’7—)63’63 @535~ 50 30
(22 oG-

15" 25 75 75 20" 15 60° 60
o (F B (o

0’ 11 09’ 99



17. o8 ZoA %9}37]7} 2 BaL oL

3 18
@1 @ﬂ ® — @



18.

== AXtSHA L.

7 7
675 799
11 19 31 34 7
it 2.2 = putind 1—
@ 145 @ 24 ® 45 @ 45 © 15




Pl
=
™
=

of 2 v

1=]
v

sH2 1
182 ute]& Ho#H

o] Zol
ol st

=33
)

=
[e)

ol 2ol

utdl



At Aikg vHlwste] Ogtol >, < & S9HA

A

1=

ot

oA,

126 -72+31 O 126-

(72 + 31)




4]

ZA A%

2ol A 5ol 2mLA Fo] AUt} o]

= mLu AZAE U7

5(10|30|60|100|180

mL



R

)

3} 3717} 2L B o4 BAT} 16 Bek 2 B

20
44

22,

HAL2.

5]

N Q1) 7

7h



staol A A7tz o] A-rt B3 9 km, 915+ B T

oJurtt stuol| A 714 77k Ao A
PAL.

& e
=%

7
Q= Argtol



24. Tl
A7

e
-

552

1
4

L& APA 1018 shlg I, e £l



25. olWl 4o] Bumol s 7w
Utk ol 42 FohA L.

o X o X e X

30 37



